
| Air pollution – maturitní otázka z angličtiny

| Strana 1 | Studijni-svet.cz - databáze 15 000 studijních materiálů a skvělých online kurzů.

 

Otázka: Air pollution

Jazyk: Angličtina

Přidal(a): Veronique

 

 

Firstly I want to talk about cars

Secondly about factories

And next about consequences of air pollution

 

Air pollution is the very important problem of today´s days, because everything is in danger.
 Problems are cars because more and more of people have got cars and the smoke exhaust is
very strong, sometimes it is like a fog.

Next and a same problem is smoke of old factories and also leak of the dangerous waste. We
have got two dangerous plants: Temelín and Dukovany. When we came to the town from the
champagne we can see a heavy fog above the town.

Finely there we have a lot of complications. The first is a greenhouse effect, It ´s that the
exhausts make a plies of the smog and Earth is warmer and warmer. The temperature of the
water increase and icebergs are melting. Next is acid rain because rain forests are in danger
because of this. And around the world, there are many illnesses and allergies and all of it is
only because of the car and plants exhausts.
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